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income == fFy + 31 X education+ F9 X seniority.



AURAT1Y/EE Logistic
regression
(https://en.wikipedia.org/wiki/Logi

stic regression)

e A group of 20 students spend between 0 and 6 hours studying for an exam.
How does the number of hours spent studying affect the probability that the
student will pass the exam?

Hours 050|075 |1.00|1.25|150 175|175 (200|225 |250 275 |3.00 325|350 400 425 450|475 500|550
Pass 0 0 0 0 0 0 1 0 1 0 1 0 1 0 1 1 1 1 1 1

Probability of passing exam versus hours of studying
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Probability of passing exam
N
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Hours étudying
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1 4 43 46 42
2 3 45 44 43
3 9 41 47 40
4 10 42 40 47
9] 16 44 38 49
6 21 47 33 99
) 27 48 32 99
8 28 45 31 28
9 26 43 34 96
10 19 42 37 92
11 11 44 41 44
12 1 46 45 41
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scikit-learn
algorithm cheat-sheet

classification

NOT
WORKING

get
more
data NO

regression

ES

NOT
WORKING few features NoT
should be WORKING

important

number of
categories
known

clustering

oT
WORKING

dimensionality
reduction
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Linear kernel

Polynomial kernel RBF kernel (Radial Basis
Function)

>>F SVC = >EF SWC = >=> SVC =
svm.SVC (kernel="linear") svm.SVC (kernel="poly"', svin.SVC {kernel="rkbf")
degree=3) >>»> # gamma: inverse of
>>»> # degree: polynomial size of
degree >>> # radial kernel
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e Data Mining (Mohamed Zakiand Wagner Meira)

e "Some of the figures in this presentation are taken from "An Introduction to Statistical Learning, with
applications in R" (Springer, 2013) with permission from the authors: G. James, D. Witten, T. Hastie and
R. Tibshirani



